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| Outhne the advantages of cunent commutated choppe1 .' L
: Deflne PWM contwl in DC choppel R | L

: -What is meant by pelmeablhty?
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; __L"Answel ALL questmn

PART A_-— (10 X 2 20 markS) i

: -What 1s the functlon of fleewheehng dlodes in contiolled 1ect1fier‘? e 4

- DI&W the wavefonn for tluee phase half wave p051t1ve convertel m 1nvers1on T
- mode. ' : : - :

Illu_strate the._effects of air gap.

List the classification of resonant converters.

State the ‘disadvantage of disconduction mode of resonant converters.
V “Write the equation for modulation factor of the cyclo converter.

Show the advantages and disadvantagés of AC voltage controller.

PART B —(5 x 13 = 65 marks)
(a) Describe the working of three phase converters. .

Or

“(b) Draw the necessary circuit of siﬁgle pha_se full converter with RL: load,

voltage and current waveforms and explain its operation.
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the duty ratio D. Find whether the converter is operating in CC

Describe the operation of Buck converter with neat diagram.

Or

Explam the 0pe1 atmn of CUK converte1 111 detaﬂ

AExplam the Tmnsfmmel Dissu)atlon by Rachatmn and Convecfnon in

PART C i (1 x 15 15 ma1ks)

(@) ".._-In a Cuk eonveltel operatmg at 50]{Hz Llezml mH and C = SyF The .
-_output capacﬂ:m 1is sufﬁclently latge to yleid an essentlally constant =~
.. output voltage.. Hele V=10 V:and the output Vo is regulated to be . 7
i . “constant at 5 V; It is supplymg 5W’ to a load. Assume ideal components, .
3 Evaluate the percentage errors in assummg a constant voltage across C;z SR

S 'or 111 assumlng constant cunents lLl and LLZ

“In a buck-boost converter operating af 20 kHz, L = 0.05- mH: Theoutput- ‘
* capacitor C.is sufficiently large and Vi =15V. The output is to be

regulated at 10V and the converter is supplying a load of 10W. Evaluate

DCM mode.
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